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N

coordinates are given by x = £ -1 and y= W0
Find its accelerat ion vectoratt=1.

3t‘tz+’ >

a()=< 20,247

1. A particle moves in the xy-plane so that at any time t, its

he particle is at the Find the position of
t

e particle at timel__—é' X ‘j
x (+)= f(m) dt
x(= L t+C

2. A particle moves on the curve‘y =Inx }) that its x-
component has derivative x'(¢ )=+ 1 for 1 >0. Attime

3. The position of a particle moving in the xy-plane is given
by the parametric equations

3,
x=-=t*~18t+53nd y=r— 6> +9¢+4. For
what value(s) of t is the particle at rest?(\l = O>

X®)= 343t -12=0

'4)=3 (4>t - ) =0
" 3%—& -3) -h—Z) Oz—

%'(‘f) 3t —|z++°1 0
y'®)=3(t*- 4)%(#))0
3 -3)(+-1)=0

t =)

4. A curve Cis defined by the parametric equations
x=r and y = t* —5t+2. Write the equation of the line

tangent to the graﬁh of C at the point @ =
R 25

%::‘%"

t=3

NI—
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